Run 13258, integration on 12 samples

HG pedestal [ADC] LG pedestal [ADC]
1.5 1.5 1
¥ : °
1.0- o’.&z .’G‘h 1.0
d Se o _
S TR 'S % 1
05] @¥ASafid8 F .5, y'u > 051 i’
Y u * d )
p X3 P S Ah Lol X
€ TR TRE T A A MR - Sap € o oy
— 0.01 ."P ”.. s % \f{z < 0.0- ..... P _3
- REIATT Wy | | [ - 08
xi o"*’ \ ‘%S AL A —4
—0.5- i-%, ", .o.*’tﬁl"' CReees —0.5{ Tadte S oW
N B M g e 8
:. ® P | ... .0;.. 6 .. .‘ﬁ.’.’ “..:. v _5
- ]
—1.01 T 5*:” -1.01 \".‘Lf‘;‘e
[ ] ] . ® Seee _6
—1.51 | | Engilneering(liameraFrlame -8 —1.51 | | Engilneering(liameraFrlame
-1.0 -0.5 0.0 0.5 1.0 -1.0 -0.5 0.0 0.5 1.0
X (m) X (m)
HG pedestal std [ADC] LG pedestal std [ADC]
1.5
° 28
L4
1.0 ””}ﬁvi? - 34 Lo 3:3.
#: ® * f}*’ ¢
e , }
o 0 T DS % - 26
0.5 - e ® i{‘ 3 ® 0.5-
3% [ 3o T 3 - 32
~$ ? ® . e ..‘
’é y:..o ® fi:. Qﬁ. ’E‘
£ 0.0 » Yes v < 0.0; 24
Z p v AR WS Z
SR IS NN T R | | (30
—0.5{ MR *’}..}; <. o ~0.5]
o‘”‘ o w $..:’ r22
% AR P s, Sk
1.0 TALLS 28 _10-
—1. - P .
"I 2
| | EngilneeringCIameraFrzlame —1.51 | | Engilneering(liameraFlrame
-1.0 -0.5 0.0 0.5 1.0 -1.0 -0.5 0.0 0.5 1.0
X (m) X (m)
BN HG Median -5.60, std 2.15 140 Bl Median 30.77, std 2.33
120
120
100
100 A
80 - "
e 3 80
X X
3 0. 2
60 -
40 40
20_ 20_
0- 0- . . -
—15 —10 -5 0 25 30 35 40 45 50
HG pedestal HG pedestal std
140 - _ :
Bl LG Median -4.82, std 1.86 100 - B Median 24.09, std 2.56
120 1
80 1
100 1
«» 801 «n 601
) )
X X
o o
60 -
40 A
40
20 1
20 -
0: 0-
-12.5 -10.0 -7.5 -=-5.0 =25 0.0 20 25 30 35

LG pedestal LG pedestal std



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 13258, pixel O
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